AP® HUMAN GEOGRAPHY
2009 SCORING GUIDELINES

Question 3

Agriculture in the United States has changed significantly in the past few decades. With respect to the
past, present, and projected trends in agriculture shown in the diagram above, answer the following:

Part A (4 points)

First identify and then explain TWO factors contributing to the steady decline in the number of dairy

farms since 1970.

Factors
(1 point per factor; max 2 points)

Explanations
(1 point per explanation; max 2 points)

Increased production of milk

Cows produce higher yields, meaning
fewer cows are needed to meet the demand
for milk; therefore there are fewer farms.

Increased mechanization

Mechanization/technological changes in the
milking process have enabled farmers to
increase the size of their dairy herds. This
efficiency has made small farms unprofitable.

Development of agribusiness, economies of scale,
factory farms, industrialization of agriculture; changes
from labor-intensive to less labor-intensive forms of
agriculture

The number of farms, including dairy farms, in
the United States is decreasing, owing to one
or more of these factors [elaboration
required].

Displacement by urbanization

Dairy farmers close to cities where dairy
farms traditionally have been located
(milk shed) have been displaced by
urbanization, leading to a decline in the
number of dairy farms overall.

Scoring Notes:

e Students must identify and then explain TWO factors—that is, link the decline in the number of
farms (EFFECT) to a factor (CAUSE). Just saying “agribusiness” or “industrialization” is

insufficient to earn 2 points.

e Do not award points for discussions of the LOCATION of dairy farms (a repetition of von
Thiinen's ideas) that are not directly related to the decline in the NUMBER of farms.
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Part B (4 points)
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Question 3 (continued)

First identify and then explain TWO factors contributing to the increase in the number of organic farms

since 1970.

Factors
(1 point each; max 2 points)

Explanations
(1 point each; max 2 points)

Increasing demand for
organic products has made
organic agriculture profitable
and led to a growth in organic
farming (both large-scale and
small-scale).

e Consumers in the U.S. seek alternatives to the industrial products of
modern agriculture because of (media-driven) concerns about the
nutrition and healthiness of commercial agricultural products.

e Consumers have become wary of the insecticides, herbicides,
fertilizers, and genetically modified organisms (GMOs) used in
agriculture and to produce foodstuffs and have become concerned about
related long-term health issues.

e Population of the U.S. is increasing in wealth and is better able to
afford (and willing to pay) higher prices for organic products.

e Buying organic food is an example of conspicuous consumption to
display cultural preferences (a green lifestyle).

e Some consumers switch to organic products because they are concerned
about the humane treatment of animals.

e Households have declined in size and have more disposable income to
spend on higher-quality (organic) food rather than lower-quality
(nonorganic) food.

e Better advertising and marketing systems have made organic products
more appealing to consumers, thereby increasing the demand for
goods and profitability.

e The demand has increased, aided by the growth of chains of
supermarkets dedicated to organic products, which has increased
profitability and led to the growth of suppliers for these chains.

Shifts in organic agriculture
have led to better care for the
land (land stewardship,
sustainability, environmental
concerns).

e As stewards of the land, farmers/consumers wish to sustain it in the
same state they found it rather than exhaust it or otherwise degrade it by
the application of agricultural chemicals.

e Some consumers switch to organic products because they wish to eat
foods that have a less negative impact on the environment (wish to
live in greater harmony with nature).

Small farms competing with
large-scale farms
(agribusiness) are forced to
shift to more profitable
agriculture.

e The economies of scale achieved by large-farm operations have kept the
retail price of food low. Because small-farm operations cannot achieve
these economies, they have to either go out of business or shift to more
intensive forms of agriculture or supply specialty food for niche
markets that bring higher prices and greater profitability, e.g., producing
higher-priced, higher-quality organic products.

Scoring Notes:

e For parts A and B, factor points and explanation points are independent; students can earn one

without the other.

e For both parts, do not award full credit for a “double dip”—e.g., two explanations of demand for

organic foods.
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AP® HUMAN GEOGRAPHY
2009 SCORING COMMENTARY

Question 3
Overview

This question required students to evaluate important trends in the geography of modern agriculture in
one of the countries of the core region. They were asked to evaluate data presented in a graph and to
connect those data to their knowledge of the processes of industrialization/economic development and
urbanization.

Part A of the question asked students to identify and explain two factors that contributed to the decline in
the number of dairy farms since 1970. This question assessed students’ understanding of the changing
spatial scale of agriculture, specifically how the increased size of operations has meant that a smaller
number of farmers can meet the demand for milk. The question also determined if students understood
how the efficiency of large farms makes it harder for smaller operations to compete in the marketplace.

Part B required students to describe two factors that have contributed to the increase of organic farms.
This question assessed students’ understanding of how cultural tastes or preferences for food types and
environmental concerns impact the structure of agriculture.

Students needed to have a firm grasp of the spatial pattern of modern agriculture to answer all parts of this
question successfully. They were helped if they understood and could describe commodity chains and the
influence of culture on food production and consumption.

Sample: 3A
Score: 8

This essay demonstrates a fundamental understanding of the changes in agriculture in the United States in
the past few decades. In part A the essay received 4 points for identifying and explaining two factors
contributing to the decline in dairy farms: mechanization and “better agricultural machines,” which mean
that fewer farms are necessary “to sustain the US’s need for dairy products” (2 points); and the displacement
of farmers in urban areas—as land is bought up for development, “smaller, local dairy farms are quickly
disappearing” (2 points). In part B the essay received 4 points for identifying and explaining two factors
contributing to the increase in the number of organic farms: demand for organic products has increased due
to health concerns of consumers (“healthy and organic products have become classy and popular”) (2 points);
and “the local farmer must . . . become more specialized” in order to compete (although they cannot compete
with large commercial dairies, organic growers can offer “higher-quality food for a potentially higher price,”
indicating more profit would be made) (2 points).

Sample: 3B
Score: 6

The essay received full credit in part A and partial credit (2 points) in part B. In part A the essay was awarded
4 points for identifying and explaining two factors contributing to the decline of dairy farms: “the
commercialization of agriculture” has created substantial economic advantages for large firms over small
dairy farms (2 points); and increased milk production is achieved by using “genetically modified feed” for
cattle (2 points). In part B the essay received 2 points for identifying and explaining that demand for organic
products has increased (“even though they are more expensive”) because consumers want to avoid foods
that are genetically modified or have other additives.
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Question 3 (continued)

Sample: 3C
Score: 4

The essay received partial credit in parts A and B. In part A the essay received 2 points for stating that
“[tlechnological advances have helped farmers increase the output of milk from cows” and explaining that
this increased production is due to the use of hormones. No additional points were awarded in part A. In
part B the essay received 2 points for identifying and explaining that increasing demand by consumers for
healthier food choices occurred in part because the media have “spread the idea . . . that organic food is
healthier for people,” leading to more organic farms.
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